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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
Instructions :  All questions carry equal marks. 
    (2) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. 
     Attempt all questions. 
    (3) ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û ¾Ûä°ùÛÍÛÁõ ÅÛ”ÛÈÛÛ. 
     Answer must be precise and relevant. 
   (4) ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× …Û¸ÛéÅÛ ¸ÛóÊ¶Û ’õ¾ÛÛ×ïõ ›÷ Š«ÛÁõÈÛÐüà¾ÛÛ× ÅÛ”ÛÈÛÛ. 
    Write the same question number in answer book as mentioned in the 

question paper. 
 
1. Ðü©ÛÛÉÛÛ …é¤øÅÛé ÉÛä× ? Ðü©ÛÛÉÛÛ Š©¸Û·Û ïõÁõ¶ÛÛÁõÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûà ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 14 
 What is frustration ? Explain with example the factors creating frustration.   

…¬ÛÈÛÛ/OR 
 þù¼ÛÛ¨Û …é¤øÅÛé ÉÛä× ? þù¼ÛÛ¨Û¶ÛÛ ïõÛÁõ¨ÛÛé ˜Û˜Ûâ – …Û¸Û¨ÛÛ ÍÛ¾ÛÛ›÷¶ÛÛ ÍÛÛ¾ÛÛ¶ýÛ þù¼ÛÛ¨ÛÛé ˜Û˜ÛÛë. 
 What is pressure ? Discuss the reason of pressure and common pressure of our society. 
 

2. ¾Û¶ÛÛé½ÛÛÁõ Š©ïõ¤ø©ÛÛ¶ÛÛ× …ÛµÛÛÁõ ©ÛÁõàïéõ “ÈýÛÜî©Û¶Ûà ”ÛÛÜÍÛýÛ©ÛÛé” ˜Û˜ÛÛë. 14 
 Discuss the excitement of stress as a basis of individual characteristics. 

…¬ÛÈÛÛ/OR 
 ¾Û¶ÛÛé½ÛÛÁõ¶Ûà ½ÛÛ©ÛÛé ‘ÜÈÛÜÉÛÌ¤ø’ …¶Ûé …ßÛÛ©Û ÐüÛéýÛ ™öé. ÍÛ¾Û›ÛÈÛà ¾Û¶ÛÛé½ÛÛÁõ ÍÛÛ¬Ûé¶Ûä× ÍÛ¾ÛÛýÛÛé›÷¶Û Ýïõ¾Û©Û 

¾ÛÛ×•Ûà ÅÛé ™öé. Í¸ÛÌ¤ø ïõÁõÛé. 
 Types of stress are “Special” and “Unknown”. Explain “Adjustment of stress is 

expensive.” – Explain. 
 

3. ÅÛ•¶Û ¸ÛæÈÛë¶Ûà ¼ÛþùÅÛÛ©Ûà ½ÛÛ©ÛÛé ˜Û˜ÛÛë. 14 
 Discuss the changing pre-marital patterns. 
    …¬ÛÈÛÛ/OR 
 ÅÛ•¶Û ïõÁõÈÛÛ¶ÛÛ …¶Ûé ÅÛ•¶Û ¶ÛÐüá ïõÁõÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë. 
 Discuss the reasons for doing marriage and not doing marriage. 
 

4.  ÅÛ•¶Ûœ÷ÈÛ¶Û¾ÛÛ× ÍÛÛÁõÛ …¶ÛäïæõÅÛ¶Û ¾ÛÛ¤éø “ÅÛ•¶Û ¸ÛæÈÛë¶ÛÛ – ¸ÛÊ˜ÛÛþù ¸ÛÜÁõ¼ÛÇÛé” …¶Ûé ÈýÛÜî©Û©ÈÛ –Û¤øïõÛé¶Ûà 
˜Û˜ÛÛÙ ïõÁõÛé.   14 

 Explain the pre-marital back-ground factors and personality factors affecting good 
marital adjustment. 

   …¬ÛÈÛÛ/OR 
 ÅÛ•¶ÛÉÛíéÅÛà…Ûé …¶Ûé …Û×©ÛÁõÜ’õýÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 
 Explain the marital Styles and Interactions. 
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5. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ× ÜÈÛµÛÛ¶Û¶ÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ÅÛ”ÛÛé : 7 
  Write the right answer from the options given for the statements give below : 

  (1) Š¸ÛÛ•Û¾Û¶Û-Š¸ÛÛ•Û¾Û¶Û ÍÛ×–ÛÌÛÙ¾ÛÛ× ¼Ûé ¼ÛÛ¼Û©ÛÛé ÍÛ¾ÛÛ¶Û ÐüÛéýÛ ™öé. 
   (a) ¶ÛïõÛÁõÛ©¾Ûïõ (b) ¶ÛäïõÉÛÛ¶ÛïõÛÁõïõ 
   (c) …Ü¸ÛóýÛ (d) ¸ÛÍÛ×þù•ÛàýÛäî©Û 
   Two things are common in approach-approach coflict, 
   (a) Negative (b) Harmful 
   (c) Dislike (d) Selective 

  (2)  šýÛÛÁéõ ïõÛéˆ …éïõ ¸Ûó¼ÛÇ ¸ÛóéÁõ¨ÛÛ ¼Ûàœ÷ ¸Ûó¼ÛÇ ¸ÛóéÁõ¨ÛÛ ÍÛÛ¬Ûé ïéõ …¶ýÛ …Ü¶ÛÈÛÛýÛÙ ¸ÛÜÁõÜÍ¬ÛÜ©Û 
ÍÛÛ¬Ûé ¤øïõÁõÛýÛ ™öé.©ýÛÛÁéõ ›÷é ¾ÛÛ¶ÛÜÍÛïõ …ÈÛÍ¬ÛÛ ÐüÛéýÛ ™öé. ©Ûé¶Ûé _____ ïõÐéüÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

   (a) ¾Û¶ÛÛé½ÛÛÁõ (b) þù¼ÛÛ¨Û 
   (c) ÍÛ×–ÛÌÛÙ (d) Ðü©ÛÛÉÛÛ 
   When a strong motivation collides with another strong motivation or any 

other needed situation, then the mental status is called as. 
   (a) Stress (b) Pressure 
   (c) Conflict (d) Frustration 

  (3)  ˜Ûé©ÛÛ©Û×ªÛ¾ÛÛ× Ðü©ÛÛÉÛÛ ïéõ þù¼ÛÛ¨Û¶Ûé ÅÛàµÛé ŠþÕù½ÛÈÛéÅÛ …ÍÛ¾Û©ÛäÅÛÛ ïéõ ©ÛÛ¨Û¶Ûà ¾ÛÛªÛÛ¶Ûé _____ 
©ÛÁõàïéõ …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

   (a) ÍÛ×–ÛÌÛÙ Š©ïõ¤ø©ÛÛ (b) þù¼ÛÛ¨Û Ü¶ÛÌ’õàýÛ©ÛÛ 
   (c) Ðü©ÛÛÉÛÛ Š©ïõ¤ø©ÛÛ (d) ¾Û¶ÛÛé½ÛÛÁõ Š©ïõ¤ø©ÛÛ 
   Imbalance or stress level due to frustration or pressure in nervous system is 

called as _________ 
   (a) Conflict severity (b) Pressure failure 
   (c) Frustration severity (d) Stress severity 

  (4)  …Û¸Û¨ÛÛ× ÍÛ¾ÛÛ›÷¶ÛÛ ¾Ûä”ýÛ ÍÛÛ¾ÛÛ¶ýÛ þù¼ÛÛ¨ÛÛé ïéõ¤øÅÛÛ ™öé. 
   (a) ¼Ûé (b) ˜ÛÛÁõ 
   (c) ™ö (d) …Û¥ø 
   How many common pressures are there in our society’ ? 
   (a) Two (b) Four 
   (c) Six (d) Eight 

  (5)  ÅÛ•¶Û ïõÁõÈÛÛ¶ÛÛ× ïõÛÁõ¨ÛÛé¾ÛÛ× …éïõ ¾Ûä”ýÛ ïõÛÁõ¨Û ™öé. 
   (a) ÍÛ×©ÛÛ¶Û ¸ÛóÛÜ¸©Û (b) ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ ›÷ÄõÜÁõýÛÛ©ÛÛé¶ÛÛé ÍÛ×©ÛÛéÌÛ 
   (c) ÍÛ×ÍïèõÜ©Û ›ÛÇÈÛÈÛÛ× (d) ¾ÛÛé›÷-ÉÛÛé”Û ïõÁõÈÛÛ ¾ÛÛ¤éø 
   There is one main reason for doing marriage. 
   (a) To get child 
   (b) For satisfaction of psychological need 
   (c) To maintain culture 
   (d) For fun 
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  (6)  ¼ÛÛÇïõ¶Ûä× …Û•Û¾Û¶Û ÅÛ•¶Ûœ÷ÈÛ¶Û¾ÛÛ× ïéõÈÛä× ¸ÛÜÁõÈÛ©ÛÙ¶Û ÅÛÛÈÛé ™öé. 
   (a) ›÷ÈÛÛ¼ÛþùÛÁõà¾ÛÛ× ÈÛµÛÛÁõÛé (b) ½ÛæÜ¾ÛïõÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û 
   (c) ïõÛýÛÙ¾ÛÛ× ÈÛµÛÛÁõÛé (d) …Û¶Û×þù¾ÛÛ× ÈÛµÛÛÁõÛé 
   What kind of change does the child birth bring in the marital life ? 

   (a) Increased responsibilities 

   (b) Change of role 

   (c) Increased work 

   (d) Increased happiness 

  (7)  ™æö¤øÛ™öé¦øÛ¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà …éïõ ïõýÛä× ïõÛÁõ¨Û ¾ÛÐü«ÈÛ¶ÛÛé ½ÛÛ•Û ½Û›÷ÈÛé ™öé ? 
   (a) Ü¾ÛªÛÛé¶Ûä× ¸ÛÜÁõ¼ÛÇ (b) ÈýÛÛÈÛÍÛÛÜýÛïõ ¸ÛÜÁõ¼ÛÇ 

   (c) µÛÛÜ¾ÛÙïõ ¸ÛÜÁõ¼ÛÇ (d) ÈýÛÜî©Û•Û©Û ¸ÛÜÁõ¼ÛÇ 
   Which of the following plays an important role in the divorce ? 

   (a) Friend factor (b) Professional factor 

   (c) Religious factor (d) Personal factor 

 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶Û ÍÛÛ˜ÛÛ ÐüÛéýÛ ©ÛÛé T …¶Ûé ”ÛÛé¤øÛ× ÐüÛéýÛ ©ÛÛé V ¶Ûà Ü¶ÛÉÛÛ¶Ûà ïõÁõÛé : 7 

  Put T if the statement given below are right and Put V if they word : 

  (1) ›÷ÄõÜÁõýÛÛ©Û ©ÛèÜ¸©Û¾ÛÛ× Ü¶ÛÌºõÇ©ÛÛ ïéõ …ÈÛÁõÛéµÛ¶Ûé ïõÛÁõ¨Ûé ›÷é –ÛéÁõà ÅÛÛ•Û¨Ûà ›÷¶¾Ûé ™öé.©Ûé¶Ûé 
¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ ¸ÛÜÁõ½ÛÛÌÛÛ¾ÛÛ× þù¼ÛÛ¨Û ïõÐéü ™öé. 

   Intense feeling which occurs due to failure or resistance in the satisfaction of 
needs is called pressure according to psychological terms. 

  (2) …Û¸Û¨ÛÛ× ÍÛ¾ÛÛ›÷¶ÛÛ×-ÍÛ×ÍïèõÜ©Û¶ÛÛ ÍÛÛ¾ÛÛ¶ýÛ ÍÛ×–ÛÌÛÛë …Û¥ø ™öé. 
   Common conflict of our society culture are eight. 

  (3) ÈýÛÜî©Û šýÛÛÁéõ ¸ÛÛé©ÛÛ¶Ûà ÉÛÛÁõàÜÁõïõ ïéõ ¾ÛÛ¶ÛÜÍÛïõ ÉÛÜî©Û ïõÁõ©ÛÛ× ÈÛµÛÛÁéõ ›÷ÈÛÛ¼ÛþùÛÁõà Š¸ÛÛ¦éø ™öé. 
©ýÛÛÁéõ ¾ÛÛ¶ÛÜÍÛïõõ þù¼ÛÛ¨Û …¶Ûä½ÛÈÛé ™öé. 

   A person when takes responsibility more than his mental or physical strength 
feels mental pressure. 

  (4) ¸ÛóÜ©ÛïæõÜÅÛ©Û ¬ÛýÛÛ ÜÈÛ¶ÛÛ ¾Û¶ÛÛé½ÛÛÁõ ÍÛÐü¶Û ïõÁõÈÛÛ¶Ûà ÉÛÜî©Û …é¤øÅÛé ¾Û¶ÛÛé½ÛÛÁõ ÍÛÔ©ÛÛ. 
   To tolerate the stress without getting upset is called as stress tolerance. 

  (5) ÅÛ•¶Ûœ÷ÈÛ¶Û¾ÛÛ× ÍÛÛÁõÛ …¶ÛäïæõÅÛ¶Û ¾ÛÛ¤éø ›÷ÈÛÛ¼ÛþùÛÁõ ¸ÛÜÁõ¼ÛÇÛé¾ÛÛ× – “ÅÛ•¶Û¸ÛæÈÛë¶ÛÛ ¸ÛÊ˜ÛÛþù 
¸ÛÜÁõ¼ÛÇÛé” ½ÛÛ•Û ½Û›÷ÈÛ©ÛÛ ¶Û¬Ûà. 

   “Pre-marital back-ground factors” do not affect the factors responsible for 
good marital adjustment. 

  (6) ™æö¤øÛ™öé¦øÛ¶Ûà …ÍÛÁõ ¼ÛÛÇïõÛé Š¸ÛÁõ ¬Û©Ûà ¶Û¬Ûà. 
   Divorce does not affect children. 

  (7) œ÷ÈÛ¶ÛÍÛÛ¬Ûà¶Ûà ¸ÛÍÛ×þù•Ûà¾ÛÛ× “¾ÛÛ©ÛÛ-Ü¸Û©ÛÛ ÍÛÛ¬Ûé¶Ûä× ©ÛÛþùÛ©¾ýÛ” ¾ÛÐü«ÈÛ¶ÛÛé ½ÛÛ•Û ½Û›÷ÈÛé ™öé. 
   “Parental attachment” plays an important role in the selection of life-mate. 

 
________ 
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